
Solving Inequalities



2

1 Solve the following inequalities:

1(a) 3𝑥 < 21

[1 mark]

Answer

1(b) 12 + 𝑥 > 16

[1 mark]

Answer

1(c) 7𝑥 ≤ 14

[1 mark]

Answer

1(d) 7𝑥 ≥ 42

[1 mark]

Answer

1(e) 7 + 𝑥 ≤ 11

[1 mark]

Answer

Turn over for next question

Turn over ►
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2 Solve the following inequalities:

2(a) 2𝑥 + 8 < 18

[1 mark]

Answer

2(b) 3𝑥 + 10 > 13

[1 mark]

Answer

2(c) 5𝑥 + 9 ≤ 59

[1 mark]

Answer

2(d) 10𝑥 + 6 ≥ 56

[1 mark]

Answer

2(e) 9𝑥 + 14 ≤ 95

[1 mark]

Answer

Turn over for next question

Turn over ►
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3 Solve the following inequalities:

3(a) −7𝑥 + 3 < −60

[2 marks]

Answer

3(b) 3𝑥 + 3 > 33

[2 marks]

Answer

3(c) −2𝑥 − 7 ≥ −7

[2 marks]

Answer

3(d) −10𝑥 + 13 ≤ 13

[2 marks]

Answer

Turn over for next question

Turn over ►

8



5

4 Solve the following inequalities 

4(a) 4𝑥 − 3

2
>
𝑥 + 8

4

[3 marks]

Answer

4(b) 2𝑥 − 3

2
>
𝑥 + 5

4

[3 marks]

Answer

4(c) 3 − 𝑥

2
>
𝑥 + 3

3

[3 marks]

Answer

Turn over ►
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5 Solve the following inequalities 

5(a)
−1 <

5𝑥 − 5

3
< 5

[3 marks]

Answer

5(b)
5 <

3𝑥 − 5

2
< 9

[3 marks]

Answer

5(c) −4 < 7 − 3𝑥 < 5

[3 marks]

Answer

End of Questions

END
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